AMEETAYHL T YRR—ILER

OFREH: 20145 98 14H HEEH OH&E4A: 38— Bk
O EFABEEZI:  17:00 o= B: EHOBEBKEIS
ORSHTEH: 19:15 OXfE: Fh O A
F—1% 1Q 2Q 3Q 4Q TOTAL B
BARKZE 6 0 0 7 13 1 18
BEEZERKE 14 7 14 42 2 O
FafgiE
F—LB -5 B PLAY PLAYER(S) ¥—FK TFP PLAYER(S)  HIG/XHNG
ABERKE 1 3:46 FG #55% P 46 —
Fifeagead o 1 8:26 pass #7[R O —#15K 25 K #1500 & G
ABARKE 1 10:20 FG #5548 AT 37 —
A ER 1 10:39 run #23F 48 K #1500 & G
B ER 2 9:09 run #23F 26 K #1500 & G
Fifeagead o 3 4:33 run #235F 37 K #1517, 2 G
Lisfeagead o 4 3:19 run #2154 7 K #1500 B G
B ER 4 6:27 run #2151 39 K #1500 & G
ABRKE 4 11:34 pass #5EBE—HSE T 17 K #5554 T G
F— LA ABRKZE R FERKE
1.77—RRE DY E# (5> — /"X — R A]) 12( 5— 7— 0) 15(10— 4— 1)
28R A —HIo2—ETh 32—13-0 12—7—1
gev—r | 1a6vds | 72Yds
3TV E#—EFVY—F 28— 60Yds 40— 256Yds
4ME B —E/FVY—F 60— 206Yds 52—  328Yds
5.5 8l E#H—EKvV—F 3— 20Yds 2— 5Yds
6.77>7IL B % —F X 1—0 1—0
7.74—ILEI—)L B — B2 3—2 0—0
8. R— LT B B 21:37 26:23
9.3rd—down Conversion 415 814
10.4th—down Conversion 2/4 1.1




BAGCEH ABRKKE

AIEET A)Hh TR —ILER

BEANEEE (ABXKKE)
® >
NO. £ Al Bl Yards TD A Fi5
2B EE 11] 51 of 13| 46
5 &k & 12] -9 o] 5] -1
6 BE M 2l 6] 0 -3
100 TEAM 11 o o 0
8 E&F KR 1] 20] o] 20] 20
3ELE RiF 1] 4 of 4] 4
® /\X
NO. £ A El% BTh R—tYards TD HBX FH
5 &k & [ 31] 13] of 146] 1] 31] 47
100 TEAM I 1] of of of o 0
oL —T
NO. Z2X:] Bl# Yards TD ==K Fiy
L ELS I3[ 17] o] 20] 5.7
85 /NH EH [ 3] 34] o] 16| 11
3Bt RE 2] 11 o] 6| 55
8 EF BHR 5] 84l 1| 31| 17
® *XvoA7o
NO. Z2X:1 El%Yards 1 2 3 4 5 10
|55 #WFT =7 Il 4] 158 49] 57] 40[ 12]
® /\ Uk
NO. Z2X:1 El%Yards 1 2 3 4 5 10
|55 #WFT =7 [l 4] 179 34] 51| 51 43|
@xvOAT)3—
NO. £ I Bl¥kYards TD 1 2 3 4 9 10
6 HE JEis T 4] 85] o 23] 30] 15[ 17
8EF HR [ 2] 73] of 58] 15
43 JI[FH Kith [ 1 9] o] 9
® GBY vy
NO. Z2X: 0] E#4 Yards 1 2 3 4 5 10
2 il i 1 3 3
58 &% KIE Il 1] 5] 5
@ 1 3—tT+
NO. Z2X: 1] [l Yards TD 1 2 3 4 9 10
| 64 #5 A [ 11 24] of 24 I




B A& AP

AIEET A)Hh TR —ILER

BN E (FAEFREXE)
® >

NO ZHi [l%4 Yards TD =K F1y

T ER 14] 83] 2] 39] 59

23"&\,\ 11] 1551 3] 48] 14

780 BX 8] 17] o] 8] 21

1 Bk I&hE 2| -5| of 3] -3

20 Bl & 2] 3] o] 4] 15

25 /By Eug 3] 3] of 4] 1
® \X

NO ZX: 1] EE: ﬁkIjJ’)'l ‘tYards TD &w=K F3

780 EX [ 11 72| 1] 25| 6.6

12FE8 85 [ 1 o 0 of o 0
oL —T

NO. =] [# Yards TD =K FY

CHE > EH 1] 15 o] 15] 15

1 &K 1&iE 3] 32 11 25| 11

19*511@7@5% 1 9 of 9 9

28 Bl 2H 1 9 of 9 9

18 LUK &3 1 71 o] 7] 7
® *voA7o

NO. £ |l E%k Yards 1 2 3 4 5 6 7 8 9 10
[ 15 M & [ 77389 53] 52] 63] 61] 65 50 45 | [ |
® /\ Uk

NO. £ |l E%k Yards 1 2 3 4 5 6 7 8 9 10
[ 15 M & [ 3fto1f 40f 46 15] | | | [ | [ |

@OxvIFT-)53—2

NO. £ |l E% Yards TD 1 2 3 4 5 6 7 8 9 10
780 BX [ 1] 38] of 38
1 5K &hE 1] 44] of 44
77 [ 1] 10] of 10
21 A &R I3 o o[ o
@ /N\k1)E—>
NO. Z2X:11 Bl% Yards TD 1 2 3 4 5 6 7 8 9 10
23 T B 11 4] of 4
1 =7k K18 [ 1] 171 of 17
® GBY vy
NO. Z2X:| Bl Yards 1 2 3 4 5 6 7 8 9 10
5 RKEEZ 11 4f 4
77 [ 1] 15[ 15
5 KB EE L1 M7




